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1. Solve the following equations:

a.
7x + 7 = 5x ( 11
     b.
3x + 13 = 9 ( 5x
   c
 4x ( 8 = 6x ( 14

[image: image2.bmp][image: image3.png]2. The diagram below shows a sector of a circle, centre C.
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The radius of the circle is 10:5 centimetres and angle ACB is 118°.
Calculate the length of arc AB.



2.


3. Calculate the total amount Erin will have in her account after 3 years if she invests £1500 at the rate of 4% per annum.
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Andrew is making a picture frame, ABCD.
Past Paper challenge
5. 
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The figure shows the cross section


of a tunnel with a horizontal floor


AB which is 2.4 metres wide .


The radius OA of the cross section


is 2.5 metres.


Find the height of the tunnel .
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It is 25 cm high and 21.5 cm wide.


To check whether the frame is rectangular, he measures the diagonal, d.


It is 31.5 cm long .


Is the frame rectangular ?
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